ELEC 5200-001/6200-001

Homework # 3

Assigned: Friday, Sep. 2, 2005
Due: Friday, Sep. 16, 2005
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Design and model in VHDL, a 16-bit adder capable of adding two16-bit words A and B, and a single-bit carry Cin. The sum S is a 16-bit output. Cout is a single-bit carry output. 
Design the VHDL model of the 16-bit adder as two design units (two VHDL models):

(a) 2-bit full adder – Cout & S1-0 = A1-0 + B1-0 + Cin.

(b)16-bit full adder – Instantiate 2-bit full adders to generate Cout & S = A + B +Cin.
Submit VHDL codes for all design units and the simulation results for all units. Simulate thoroughly all design units to see if desired functionality is met. Annotate all simulation results (LIST format only – no waveforms).
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